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QUESTION 1

What are two advantages of using the Data Forwarding at Intra-LTE Handover feature? (Choose two.)
A. Data is received from two cells at the same time.

B. Packet loss is minimized during handovers.

C. TCP performance Is improved.

D. User data can be forwarded directly between UEs over Wi-Fi.

Correct Answer: AB

QUESTION 2

What is the recommended setting for the primaryCpichPower parameter according to Ericsson NDO guidelines?
A. less than 33 dBm

B. 36 dBm or more Independently of the maximum transmission power

C. 8-10% of min[maximumTransmissionPower, maxDIPowerCapability]

D. 33 dBm independently of maximum transmission power

Correct Answer: C

QUESTION 3

A customer is deploying VOLTE and complains about high voice drop rates and voice quality degradation at the cell
edge in most LTE cells in the area. The network has a dense WCDMA coverage on the 700 MHz band and patchy LTE
coverage on the 2100 MHz band.

Which two features would you activate to solve this problem? (Choose two.)

A. DRX

B. 256 QAM DL

C. TTI Bundling

D. SRVCC Handover to UTRAN

Correct Answer: CD

QUESTION 4

You have collocated sectors In your 2G network on the GSM 900 and the DCS 1800 bands. Reviewing the network
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level traffic distribution, you noticed that the GSM 900 sectors have five times more traffic than the DCS 1800 sectors.
Which two actions would improve load balancing between these bands? (Choose two.)

A. adding additional GSM 900 sectors

B. changing the handover margin

C. expanding the site\\'s transmission link

D. changing the idle mode cell reselection parameter

Correct Answer: B

QUESTION 5

What is a benefit of Remote Radio Unit (RRU) deployment compared to a standard Radio Unit (RU) deployment?
A. RRU consumes less power.

B. RRU provides for easier legalization of the equipment.

C. RRU provides easier deployment and maintenance.

D. RRU has lower feeder loss.

Correct Answer: D
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